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Lulu and Elliott each have a cake of the same size.
They each cut their cake Into 4 equal pleces.

Lulu eats 2 pleces.

Elliott eats 3 pleces.

Who eats more cake?

On the next page, yHou will Lind picture of the
cakes. You mak wish to colouwr these in or print and

cut them out to help you solve the problem.

Think about - how many slices would they eat?

What would this be as a fraction?

Would this he the same amount of cake if the
slices are the same size?

Ch: can you write an exploanation to tell me why
Mo think you're right?

Now, complete the worksheet on Showhie.



Lulu’'s Cake

Ellioctt's coke.




